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responses and also the required data in OMR Sheet.

Candidates should write the Hall Ticket Number only in the space provided on this page
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Immediately on opening the Question Paper Booklet by tearing off the paper seal, please
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questions (1-150), (iii) The number of pages and (iv) Correct Printing. In case of any
defect, please report to the invigilator and ask for replacement with the same booklet code
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Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/
Log Tables are not permitted into the examination hall.

Darken the appropriate circles of (A), (B), (C) or (D) in the OMR sheet corresponding to
correct or the most appropriate answer to the concerned question number in the sheet.
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The candidate should write the Question Paper Booklet number, OMR Answer Sheet number,
sign in the space provided in the Nominal Rolls.

Return the OMR Answer Sheet to the Invigilator before leaving the examination hall. Failure
to return the OMR is liable for criminal action. The Question Paper Booklet shall be taken
away by the candidate and should be preserved till the declaration of results.

This Booklet consists of 2 Title Pages + 2 Pages of Rough Work + 51 Pages for
150 Questions + 1 Page of Rough Work i.e. Total 56 Pages.
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éég 35X : 3 fodoen ﬁa% Sredyes 1 150

10.

@afgégeéa Qoeedden
(D3emrares TPTRRE Snothrr Sl idne $thod)

©EHB0 20EBEE e D& wPES 506 668 (OMR) asa H(Fo o woboSeoE0s.
DSrgraren HB0ToME HBOH BSIEE HSPTTA8 Ko20H0oD BoHBV Ldowd &HeTH
0% $rSded S0 T8 FAoSos.

&3 2058¢5 Fnsd 2lSE Beronodd é@oe’i‘s 8050 Ld0wd &5 SrEH ©2%0 S8 @8¢5
Soad Todird. HBHE® wfthen S FSEBE Joad (FPabEPE.

2B Foloto Tor (BHSGo wESEH BEITI () B8 DER ©F &3S &6
(A/B/C/D) (ii) 3¥o Io%) 50055 Joyy (Bngo (B Doy 150), (iii) B Sogy
(iv) B Soo(Ees woroRn HNOWeD. DB SHo &od, Kaég 350850 ©and 0 oSt
& DAY a&)&&éeﬁ é@%&% é@é@@, w3 88 Jobed) anEBE a%ao)oiiﬁsmé).

REPT, Db, 52088, o(TIE KEIBrTren erod o8 &HESwPe HoBASD
DHFDBES/erh Bend) HOF FSE*E @oH80SED.

@%&Ko@o@sﬁ) (08 Doz BAS DFore Hoa0sS (HEHB ST B SAS D&rerard8 ebiheaorr
8.d0wd a¢5S® (A), (B), (C) Bae (D) $85)8° SASTRY) ohE Tl Sevsh BArD. O (HEHS
2,888 oI aa&%m Send 3?3_\; ) TeelPe S°5). By 3TNV IS JBNe0 GOED).
o) (OB By DTeK80.

88 38), & Do EBEE® A8 BeranodD é@oéﬁ SR(BR Boed.

©35%0 2.8 HOF e 8B (HFB0NS Bawed HOF LoADoS SEH Eree ©2500 DAL
H0HE0 BBBLo.

BEHBEo EBSES® 5080 Ldowb w)5aip JTBoDD é@ooé‘s a@B08 Hod¥o
Goler K0 S8 old. Lol eBhss® I TrK K8erRy HFos® $B AT8S Foos® wifd
Yoo Taied.

©g58 (HEBEo 20E8¢5 Joab, £.00e8 @5 &S Joabd TasS &SRSt 20@%05326 ‘cé))@oeSS
TEo8® enrr IS FHS® ATB0DS e DosBo Dasrd.

568, BS HHOBHTIS H0oorr Lowd @B aRBebh B8R B, wor B
Bgos® (BIS Bgen BoSahEran. [HEHDB0 5B ©358 ééoé%;)zézﬁoa SHoBS5w HOBPen
SgtoBod IBEr TR FEHENE .

8 2050 R BBS Dt + R OF H&; Do + 150 RIL (P 51 WEo + 1 6 X6,

DS D8 BwB0 56 DLV I GOW0R.
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USA has gone in for a strategic partnership with India, because :

(A)
B)
)

(
(C
(D)

India is a democracy.

It serves their national self interests.
India has a large trained manpower.
India is an IT giant.

OOS®, ePESBIoS E@igésé&é @ﬁ%"‘sﬁ"é@& DOHBI0H. DoLBIEOE :

(A)
(B)
(©
(D)

ePESTE0 (Segeednd 3%0.

08 T8 PACH (HDRraTrod §rEHEEos.

gPBSEE0 OBHY 5(;0036& 0388 5o S3Bed EOA eob.
PESRE0 0 Soos® oK.

Illegal migration from Bangladesh to India takes place because :

(A)

(B)
(©

(D)

Ethnic similarity of the population.
Bangladesh is devastated by frequent floods.

Pressure of high population density in Bangladesh coupled with India’s relative
economic prosperity makes it attractive.

India is a tourist destination.

2OMPEE 509 grESERTI8 ©ESH Seded 800 !

(A)

(B)
©

(D)

2T Q) 28 POZen

BEEr $T) BBBO B0 DOTPBs TPE50 S°HK0

2oreeES® @fE esmrgr &@%4%)55 Dreore grE8SEE o0 Pgrigo Hoved e—séqle%oéaorw
Soedo.

FEETI0 Hoegerd Solgo

Pull out of US troops from Afghanistan later in 2015 will be detrimental to India’s interest

as .
(A)
(B)

(©)
(D)

Our development projects will suffer.

Taliban is likely to come to power in Afghanistan which will increase cross border
terrorism in India.

Opium trade will increase.

Trade in dry fruits will drop.

2015 &% @?};’03{;5 009 RO DOTPY GHV0PEE PSS (HRresre &8 dPorr Bm@é@o&

(A)
(B)

(©
(D)

B8 @B (PEHen Bey) Botrow.

@%355593‘5 O HTE0 88 o). ©b FrEERT0St birods eliTrned) ©fso
3@0&.

S0t RS0 @HEDHHE.

@ Bred) agardo HEDFEHB.
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4.  Afghanistan is strategically important to India, as it is :
(A) In the Hindu Kush mountains.  (B) Has an oil reserves.
(C) Pakistan’s neighbor (D) Dominates the “silk Route”

ePEET D8 g sore @{JDEOQ(;S Do& HggR0. JowHEos wb :

(A) Sroir HR H8Et Gob (B) S8 dogoy O/ &obd
(C) BRSH DsorvcEo (D) ") Er¢d " whHSE50 EOA &od
5.  China-Pakistan Economic corridor through the Karakorum is a boost to Pakistan because :

(A) It improves trade with china.

(B) Cements a long term strategic partnership with china.
(C) Reduces the importance of Indian Ocean for Pakistan.
(D) Increases the importance of Gwadar port.

SOEED thome BI-TFELS 608 SOmE PERSH HBo. JotHEos
(A) BE TgRroeR) ©8 BBHHEIRROB.

(B) Boo& 8§Ds‘>é’)é B gy HBPo Dok

Q) 3‘%@;5& S0 S0SFI0B0 (Prrarsl) SRK08.

(D) r=Eb &80 (@raraeR) 2oHEHod.

6.  Debt crisis in Greece will have the following effect on India :
(A) Severe impact on external trade.
(B) Marginal impact, as our trade with Greece is small.
(C

) No impact at all.
(D) Ripple effect on our trade with Europian Union.

B 63896055?;50 gPEBBE0D BIDD (grard) O 60nod :
(A) B3 aegErdod B Kgrso

(B) AR&° 3 amgirdo S s Ko ©arso

(C) Qerod (HDgrdo oD

(D) C5rE5HeHS HrdoHhSE® Hod 5313@60';’.3 Fordes (Hgrdo

7.  The range of Agni 5 Missile is:
(A) 5000 km (B) 500 km
(C) Un-limited range. (D) [Itis a cruise missile
of) 5 §0d 00 :
(A) 5000 &.&x. (B) 500 &.8%.
(C) @HBMWE HOG (D) o8& Erond DS
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Gwadar port in Pakistan is important to china, as :

(A) China can import oil from the Gulf countries via Gwadar and the transport it through
the karakoram Highway.

(B) Help Pak economy.
(C) Dominate the Arabian Sea.
(D) Can check India’s trade.

FERS &% mES 8,509 B Jo8° SwagRood. JowHBod

(A) K B Do) Boe Sk BrHHS TR LD T¢d T o)) e
B K enrHEH08.

(B) &r8 @0 5005 o DD,
(C) TSP dS0BoD BRVE[0 FPon0BHEY)
(D) gr8EBE TogrTR8 SlaviSto SaHEY)

India’s nuclear liability bill deals with :
(A) Number of bombs India is permitted to make.

B) Dangers of Nuclear contamination.

(
(©
(D)

Exemption from signing the NPT Agreement.

D) Extent of liability on foreign suppliers of nuclear reactors, in the event of an accident.

eSSBS0 Do) 2633350&35 DS en B8 $020080206 :

(A) RESRF0 BB D& K eroze 00gxE Ko XS

(B) o sPendyy Sy

Q) ITHS ayorio HodEo H0d MBFEWo)

(D) (©&rso a2BA HEo’, e Slovvce! DB8 BEHTTEHOD Sod e

10.

Most developed regions of China are in :
(A) Eastern coastal area. (B) Central China.
(C) Western China. (D) Areas bordering India.

BT @ ©DHG BobS [Frozren G eI ?
(A) &rdy) 88 (@rodo (B) gy B
Q) B3 B (D) gr8& DO (arosPen
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11. The recent six Nation Nuclear Agreement concluded with Iran in July 2015 is of significance
to India. The main advantage that India can exploit now is :
(A) Increases oil imports from Iran.
(B) Improve tourist ties.
(C) Develop a route to Central Asian Countries through Chabahar port in Iran, by- passing
Pakistan.
(D) Oil refining in Jamnagar will receive a boost.
5é%e 2015 285" eS8 2BAY e dere wew 2.8)080 FPESEE do&t LooggRood. T
TO° GREERE0 B FoBHON (KD [HdFresdo
(A) =0°8 0D SE0d BB ©hB0 T[Kod.
(B) o5 ensdyomreld EIHHB00.
(C) FBRSE [Hoho BT HTRER Trerith L6805 TTe sty eRkr Bareth Sl
SR B08.
(D) eSHSKEE® S50 %’so%% &880 OolHOMD.
12. India - Japan ties have strengthened in recent years. The main reason that has brought the

two countries closer is :

Prospects of better trade.
Japan can supply nuclear reactors and fuel to India.
The rise of china is seen by both countries as a common threat.

India needs Japanese electronic goods.

5850 oos? grESEFo - warS 2.8)oTren DKo, S Botd Aoty SRS Y
(S ®odo :

DERS TogTPTIE edseEren
FESRI8 e BASE8) 0BG VOGP 2P HEHT> Bohse.
B Lwotios Bowd Beeed eind S EI1AE0S.

2P AOFIE SndHen FPESEE8 ©HdB0.
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13.

Chandragupta Maurya with the help of Chanakya decided to overthrow the Nandas
because :

(A) Chanakya had been humiliated by the Nandas
(B) The Nandas were low-born

(C) The Nandas had accumulated a great deal of wealth by extortion and oppression of
the people

(D) Chanakya wanted to restore the Ideal of Kshatriya rule

Wméag& Eﬁa(ge‘éass Lo(E5rH 263"635653, Sotho éJ‘@ﬁadﬁJ"eJSéJéDW&é). DoHBOE :
A) oo I8 TPt @NIToBEE0

B) Sodhen S50 Herd8 Bodd o

) (Do I K0 BD Sohen ©Fed HoHs AEHIE K0

D) E@oharesd Holdmedird) DVEEBoTO) Teatiyd SN Tale)

@

(
(
(
(

14.

To which personality Gandhiji gave the title “Deen Bandhu” ?
(A) Sri Aurobindo (B) C.F. Andrews (C) Vinoba Bhave (D) C.R. Das

“BS Do ©F DB Mol X8 BT ?
(A) & 059088 (B) .39 o@D (C) e o0l (D) 2.6, B

15.

Why Raja Ram Mohan Roy was opposed to Sanskrit education and instead advocated modern
scientific learning ?

(A) It would create a society of Vedantic doctrines
(B) It would keep the country in darkness
(C) It would create false cultural values

(D) It would create only men of speculative mind

PP TPORPEPRT°CD 0B o) & Deegesesdty BT80N @i TRED DegErsdo
&5%0 Deénaerdd ?

A) ©8 o DoED HFrerd) DBYEROB

B) & Go°Q) ®055e808° GoHEHond

C) @b S FoBE Dended HAKOL

D) @aﬁ'ﬁaé 5o HBON 2650@33 ©d é@%}q@otﬁ@
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16. Who founded the “All India Harijan samaj’ in 1932 ?
(A) B.R. Ambedkar (B) Acharya Narendra Dev
(C) Mahatma Gandhi (D) Jagjivan Ram

1932 &° &S mobair FBad VErEH B FRoTd ?
(A) &.08. wozBE5 (B) w8y SCoBBS
Q) e ok (D) 2)SS oo

17. When the Governor of a state dies in Office, who takes over as acting Governor ?
(A) Chief Minister of the State

(B)  Chief Justice of the State High Court

©)

(D)

Any one designated by the President

Governor of a neighboring state

a8 o°g et leite] HEDSE o 38 3063, &oE08 K585 B eressSen
SHSoad ?

(A) & T Soggool®

(B) ® g TEEG Heed Tgesrd
(C) ToRH8 (DHEBoIS @ K& eonme
(D) &rord orglo K5

18. Who composed the song “ Sare Jahan Se Achha Hindustan Hamara” ?
(A) Mohammed Igbal (B) Josh Malihabadi
(C) Bhagat Singh (D) Chandra Shekhar Azad

“ 0 wS®D ©I) 35°o(535(;5 PR Te” el DOV DD ?

(A) DB ssnS (B) &R SrdLeerd
(C)  &K58 2oh (D) Sol3eb el

19. Sankardeva was a great bhakti saint of :
(A) Bengal (B) Maharashtra (C) Gujarat (D) Assam

FoBEBS D |FFozed8 Bodd PRy ey ?
(A) BorrS (B) SosPorlg (C) ouoed (D) eJo
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20. The Administrative Council of Shivaji was known as :
(A) Parishad (B) Mantri Parishad
(C) Ashta Pradhan (D) Rajya Parishad
B Pod HoKd O DHE @’J?oég :
(A) HBHS (B) $o0(® HBRXE
(O of ©ees (D) ey HORS
21. The Jammu and Kashmir High Court is located in :
(A) Jammu (B) Srinagar (C) Udhampur (D) Leh
o) 008 P45 FPERY K S os?
(A)  esooe) (B) &6 Q) &5SHHeE (D) &
22. Satavahana rule was extended to the Coromandal Coast by :
(A) Sri Yajna Satakami (B) Pulumayi Il
(C) Sri Satakami (D) Srimuka
DB oo BETIHe el EEirord 8o e DYBoNOs
(A) & oby EW (B) Heoswow II
Q) & =Sz (D) &S0
23. Kautilya (also known as vishnugupta and Chanakya) is the author of Arthasastra which
has been compared with :
(A) Plato’s State (B) Machiavelli’s Prince
(C) Karl Marx’s Das Kapital (D) Hitler’s Mein Kampf
4 4 =S 9 .
S Bengts (DO B TPeaBgd oaéé‘s @cotgo) [oTAlSIAN] @grs"@';@& a3t BN
(A)  3pes® 8D0DS S (B) Sr80HIY 85I (B
o [A) o
Q) =§ &) 888 B sgderd (D) 38 8358 baws SP0HH
A 11 NTRVSET-2015



24. Akbar had incorporated some principles of social reforms in the Din-i-Illahi. Which of the
following social reforms did not from part of Din -I-Illahi ?
(A) Remarriage of widows (B) Prohibition of child marriage
(C) Monogamy (D) Rejection of seclusion of women
BS-8-38rE® ©8)5 ) FrRl HoBne Kr@ee @3%3)&;363. BIDS RS Bo)BES’
B B -a-yeers® gro tH?
(A) DBo& HIOEPIPO (B) ereydarse Q2o
(C) a%03 darsdro Bos%So (D) S08r¥d) adrbosner)) SEHBoBEo
25.  Which one of the following was not a characteristic of Society in Mauryan times ?
(A) Slavery (B) Rigidity of Caste
(C) Prostitution (D) Widow remarriage
855 8 HH oo TPer) DXras) ©Feo 5 ?
(A)  erdJS0 (B) B H&H0
(C) R0 (D) DBo& HIBEe0
26. The name Buddha means :
(A) Enlightened (B) Teamed
(C) Divine (D) Sacred
20 ©0& ©go :
o ®
(A) gpdo &rodd (B) epolore aByEEo
(C) BN Joohe (D) DS
27. Panchayati Raj was introduced in the country in :
(A) 1957 (B) 1952 (C) 1951 (D) 1959
B8 HomecH& ook S5 e @’33%33%33&06 ?
(A) 1957 (B) 1952 (©) 1951 (D) 1959
28. The Mughal queen, whose name was inscribed on the coins and on all royal farmans as well

as attached to the imperial signature was :
(A) Jodha Bai (B) Nur Jahan (C) Mumtaz Mahal (D) Ladii Begum

TBOD, PoOYTOR D5E EOA &od SR(Soeesg ©°6523°2>63e§50§5 S0EHEL F0sS Toed
(A) o ardD (B) SrgsES (C) SwozeEHesS (D) erd B
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29. How many languages have been listed in the 8th Schedule of the Constitution of India ?
(A) 18 (B) 14 (©) 25 (D) 15
P88 Toegorio 835 W SER A Frhen STz ?

(A) 18 (B) 14 (©) 25 (D) 15

30. The Non-Cooperation Movement was suspended in February 1922 on account of :
(A) The Chauri Chaura incident
(B) Hindu Muslim riots
(C) Arrest of Gandhiji and his imprisonment for six years
(D) All the above
1922 306" O sP8morre VA JoeEsee g0 JOVIDECE ?

(A) I8 Joe woso

(B) Srodr oo nGgaen

(C) ™o oBy Sl «BY) Bendgd 0 sPdko
(D) 25

31. The fundamental rights of Indian citizens can be suspended by the :
(A) Supreme Court of India
(B) Union Parliament
(C) President of India
(D) President, in consultation with the Attorney - General for India
FEBAH TBo (FPHNE LYo D)o BAOLKORG

NN
(A) gr88 Do ‘é’ség
(B) Zol& rBHoed
(C) B8 ToEge
(D) gr88 werd) ad8SE® $8)odS wdodso R
32. Who is the author of Vande Mataram ?
(A) Mahatma Gandhi (B) Rabidranath Tagore
(C) Bankim Chandra Chatterjee (D) Sarat Chandra Chatterjee
S0BEPSEE0 BSonsd IS ?
(A) &0tz rrof (B) 8DoBE ooiirE
(C) @o8okolls $ed (D) 88 Sol88 $&d
A 13 NTRVSET-2015



33. The Chairman of the Union Public Service Commission is appointed by the :
(A) Prime Minister (B) President (C) Parliament (D) Home Minister
AROHS HPE HOR EWRS BGS D56 dohIvosatosds ?
(A) 7S Kool (B) oo (C) FPEoS (D) 3o ool@
34. The town planning in the Harappan Civilization was inspired by a regard for :
(A) Beauty and utility (B)  Uniformity
(C) Sanitation and public health (D) Demographic factor
P8R rBESS® D&rea (e 308 QBI%08 ?
(A) ®0%0 HBX (HRresdo (B) %68
(C) FBHGo bW (e rigo (D)  emrerddzsd @odo
35. The most literate state in India is :
(A) West Bengal (B) Goa (C) Kerala (D) Tamil Nadu
Qo8 wgoigs whBorr Ko Tolgo :
(A) 3y BoreS  (B)  Atar (C) 2Bo8¥ (D) SoFeeo
36. Bal Gangadhar Tilak earned the epithet of Lokmanya during :
(A) His trial in 1907-08
(B) The Lucknow pact of 1916
(C) The Home rule movement
(D) The Congress session in 1917
S KorrgE8es S*EXrds ol FPEarR) ik omedd ?
(A) 1907-088° e0HSR Db SosByore
(B) 1916 o8} adyoio dodgyorr
(C) Trodrd &tfgoo Sosgyore
(D) 1917 &° 23BA% s20[@® By BoisG)orr
37. The Speaker of the Lok Sabha will address his letter of resignation to the :

(A) President (B) Prime Minister
(C) Deputy Speaker (D) Minister for Parliamentary Affairs

&8585 0y88 83 oedarkir S P68 HodIE ?

(A) oog® (B) Hoes Ho0@
(C) &rsd 885 (D) FBDowd HgHbore o Kol®
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38. The ancient Chola Kingdom existed in the delta of the river :
(A) Tungabhadra (B) Cauvery (C) Krishna (D) Godavari
@D S°¢ e(orego D $6 Qe (FroBoe® Do od ?
(A)  Honees (B) =36 Q) &ar (D) Aoesd
39. The Supreme Commander of India’s Defence Forces is :
(A) Chief of staff of the Indian Army (B) President of India
(C) Prime Minister of India (D) Defence Minister
eSS B8es Sgre é&%:é&@@@@ :
(A) 88D 50 DD B TS (B) #r88 TS
(C) 8 (SHprdoo(® (D) Bges 3 0@
40. The Committee, on whose recommendations Panchayati Raj was introduced in the country
was headed by :
(A) Balwant Rai Mehta (B) Jivraj Mehta
(C) Jagjivan Ram (D) Shriman Narayan
BE0® HomrchHE ToF SHSR (HIFDPoSH SRS 1IEYeH DS ENBE Fueso
$8eoDod :
(A) 2308 T°dh e (B) &ExoeE e
Q) @hsSoes (D) 578 meoechd
41. Supreme Court Judges hold office until they complete the age of :
(A) 60 (B) 62 (C) 58 (D) 65
Bodo 8% Trgabiren 5% AFEY FEahy H8H HBJS® EIFbE ?
(A) 60 (B) 62 (C) 58 (D) 65
42. Satyagraha Sabha was formed by Gandhi at :
(A) Bombay (B) Calcutta (C) Gujarat (D) Poona
Do D5 oy IEE T Deedd ?
(A) 2P0 (B) ZBeolwe (Q) Koesoe& (D) Syeae
A 15 NTRVSET-2015



43. Mahatma Gandhi participated in the second Round Table conference after :
(A) Signing the Gandhi- Irwin pact of March 1931

(B) Refusing to hold direct talks with the Muslim league

(C

(D

) Being permitted by the congress

) Receiving assurance that independence was fast coming

B BB Eﬁagﬁ@&moé Bo&® BP0k Bend dSrRgos® @*965(_‘)’6&63 ?
A) 1931 $78)5° mrod-26sS alondsR Yodsre Sos

B) &wRo HR&® ({8 SE)en 2820t SEHO0DS Stard

C) sPoRR K0od 08 FodS SBars

(
(
(
(D) Bt B0l THOS) 5380 Podd Saes

44. Different Sufi schools or orders in India were Known as :

(A) Khangahs (B) Qualandars (C) Silasilahs (D) Oarveshs

PESBE0SED P W PO B JHLTOWD :

(A)  gP&wR (B) sxwored) (C)  Derdertr) (D) &3ER

45. Kabir was contemporary of :
(A) Guru Nanak (B) Sultan Sikandar Lodi
(C) Both (A) and (B) above (D) Babur

g5 %68 H0dREs ?
(A) 5% &8 (B) oerS 28085 &°¢
(C) a~0gEr (A) 565w (B) (D) ereb

46. The members of the Rajya Sabha are elected for :
(A) Four years (B) Six years (C) Five Years (D) Three years

U%ééai Kye;iaego) Do HEHzeerD, AQPED ?
(A) ey (B) 0y (C) =B (D) Sordey
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47.

The first railway line built in 1853 connected :
(A) Bombay with Thane (B) Calcutta with Raniganj
(C) Madras with Thanjavur (D) Bombay with Pune

18538° BBN &9 Bew Srgo IE wHorEdodod :
(A) 2rodB - §°B (B) Beodz - oediNof
(C) D@t - Boersyed (D) &rod - HB

48.

Whose signature is found on a Indian currency note ?
(A) President of India (B) Union Finance Secretary

(C) Governor, Reserve Bank of India (D) Union Finance Minister

5o&dsr 83Y) S N8 DodBo Gotnod ?
(A) P88 TRH8 (B) ZBol& S8 =50
(C) ©esby argo8 wH modair KSBE (D) Sols ©0% Hool®

49.

Which of the following Civilization is not associated with the Harappan civilization ?

(A) Mesopotamian (B) Egyptian (C) Sumerian (D) Chinese

BIHS THS® D OB FEary THOESE® SwdHESH ?
(A) JDEWAHS  (B) SR DS (Q) BFBHS (D) 3%

50.

In which year was the first constitution Amendment Act passed ?
(A) 1951 (B) 1952 (C) 1953 (D) 1950

S5 Tregon H5Ges z‘ﬁé&)o ALY edrso oo ?
(A) 1951 (B) 1952 (C) 1953 (D) 1950

51.

The City of Vijayanagar (Now known as Hampi) was situated on the northern bank of the
river :

(A) Krishna (B) Tungabhadra (C) Kaveri (D) Godavari

DeschBisBo (Hrado Fodre (H2Y) H X6 &8s 880" Ju&od ?
(A) e (B) oS (C) =38 (D) &0
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52.

Who was the third president of the Indian Republic ?
(A) Neelam Sanjiva reddy (B) Dr. Zakir Hussain
(C) V.V.Giri (D) Fakhruddin Ali Ahmed

P88 8YE Loel® THH B ?
(A) deo Bodssd (B) w6 e85 HwdS
Q) .9. AB (D) HEES ©d o=b

53.

The Prime Ministership is generally offered to the :

(A) Leader of the majority party in the Lower House

(B) Leader of the majority party in the Upper House

(C) Person who is unanimously elected as the Leader of the House

(D) Protem Speaker of the Lower House

FEREROMT (HFPEol® HEI J568 EeBE S ?
(A)  BI9% 9556° Derdd § I8H

(B) S $e56° erdd 1Y TraHHes

(C) RgrarchBémr a8Atorr JNBS £588

(D) &S H35 (P8BS )86

54.

The president of India can be removed from office by the impeachment for :
(A) Violation of the constitution of India

(B) Failure to follow the advice given by the Supreme Court
(C) Failure to pay income - tax

(D) Contempt of court

BR808 @ IoRoBsEo weTe TRHB FohosHed ?
(A) grd& Teergol SYOFNJ

(B) 0(®08%% adys Soik dostod® SHego

(C) ey O3y BQOKQ)GS‘S éé@éo

(D) 55663 AiSplels)
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55. The British Governor general and Viceroy who served for the longest period in India was :
(A) Lord Irwin (B) Lord Dalhousie (C) Lord Curzon (D) Lord Linlithgow
GBS B8 é)qéwswo aPen DOR KOG)0 58S HBakw I EIRAS 8
(A) orb a8 (B) &r8 &SI (C) orb 883 (D) &°b OJOVS&T

56. The Jagirdars during the Muhgal period were :

(A) Mansabdars (B) Zamindars

(C) All assignees of Jagirs (D) All of the above
Swoene seeos? wf\cgtég :

(A)  BodEEeEy (B) edvoed)

(C) =gy Seranosalaet (D) oz

57. Who among the following held office as president of India, for two consecutive terms ?
(A) Dr. S. Radhakrishanan (B) Dr. Rajendra Prasad
(C©) V.V.Giri (D) Both (A) and (B)
DBV Botdh Ly g8 ToRH HSDI 3&@0& QN8 ?

(A) =56 %, TTERS (B) g6 @0l (R
(©) D.9. Ad (D) (A) SoBcsw (B) addoe

58. Consider the following definitions of the terms associated with inflation :

(I)  Stagflation is a slowdown in the rate of increase of the general price of goods and
services in a nation’s gross domestic product over time.

(I) Recession is a situation in which the inflation rate is high and the economic growth
rate is low.

(II) Reflection is the act of stimulation the economy by increasing the money supply or by
reducing taxes.

Which of the above statements is/are not correct ?

(A) Only (I) (B) Only (II) (C) Only (II) (D) (I) and (III)

BIDD, @55%@3)8@055 SOEDE &) Ve DTSR 8800508,

() Eodseoorr a8 B¥o @) NS B3BrEBS® SPe Pl o DEHEO Tend®
Se0L50 Shen Sos8s%0 i)cgﬁ‘zéoﬁﬁ.

(IT) @555?3023890 Ben wHBEOMT S0, @géée)@ Ben éééa&éém soito 253006550.

(1) (&5 VB0 oo o Higen SN0 TRgoe 688 K500 é@%aoéé‘fo 385 (©8&oo.

F) Wéaaéoess DB/ &0 50k /58y ?

(A) (1) S8 (B)  (II) So(&B3 (Q) () &eE (D) (1) Sodcso (II0)
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59.

Consider the following statements :

()  RRB’s were established to take the banking services to the doorsteps of rural masses,
especially in remote rural areas with no access to banking services.

(I) These banks were intended to mobilize rural savings and channelize for supporting
the productive activities in the rural areas.

Which of the above statements is/are correct ?

(A) Only (I) (B) Only (II) (C) Both (D) None

&MHD a"?gaa?ge):éa 568905084 :

IO (eoes (Hese 8%) LooNeB S8 Swagorre DFDH eP0 Ddew worHerend® B $rdd
Soro (Frozre et Do B8 wbebler dotcimon.

(1) ([P e DEBOBOLE LB ([(Pabes (Fromee eam) sy SESHISLSE It Ve
QOT0HE S 250500 é;é%oac’é).

F) a‘;gaa?g@és AR D0 ?
(A) (1) Soegad (B)  (II) (D (C) Bor (D) 23D ==H

60.

Which of the following statements regarding Millets and Oilseeds region in India is/are
correct ?

(I)  This region includes area of poor soils and broken topography in Karnataka, southern
Andhra Pradesh and eastern Kerala.

(I) In this region rain varies from 75 to 125 cms.
(II) Mangoes and Bananas are important fruit crops of this region.

(A) (D) and (II) (B) () and (1) (C) (II) and (III) (D) All of them
PESBI0ST DBGPTge, SrJ3fonew Dok (@Posred Yowofod) BIHE a‘gaaée)és RO/
08507

() & grifo Som®s, @olFHRS e o FBAD S8Y Ery) [Frozrdtd TR8ED) Joos®
EetHEP 608008 .

() & (@FoBos® $BarB0 75 500D 125 0.8, Tos° SrBEP Goenod.
() & (@roBos® Hrbd HOC B LoggRdd Hog e .
(A) (1) &80 () (B) (1) ban () (C) (II) %805 () (D) ey
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61.

Consider the following statements about the physiography of India :

() Northern part of India has a vast expanse of rugged topography consisting of a series
of mountain ranges with varied peaks, valleys and deep gorges.

(IT)  Southern part consists of stable tableland with highly dissected plateaus, denuded rocks
and developed series of scarps.

Which of the above statements is/are Correct ?
(A) (D) only (B) (II) only
(C) Both (D) Neither (I) nor (1)

ePESERS TR, H0200809) HIHD 5350 KooBod ¢

@ PESEE &85 grifo oSBT DJB0NS NG BxpTeen, Shcden, 65;8;26 ELH008® ErdS
HBB (Beoo&® &ob.

(1) &8es a0 asﬁ; S0 ) 5 8ersmest, doodt, FoXe (Beo&® Er&S ABI
(Frogore &od.

2 Tgages® B/ $850?
(A) (1) S (B) (II) SmES
(C) Bodr (D) (I) 5o £r8aso (IT) S0

62.

The need for foreign capital in the developing countries is more because :

() The domestic savings in developing countries is large thus investment in infrastructure
is low.

(I)  Foreign capital helps to bridge the gap between potentials and actual growth rates.
(III) Leads to surplus in the Current Account.

Which of the above statements is/are correct ?

(A) Only (II) (B)  Only (III) (©) () and (II) (D) (I) and (III)

Zégeés% B B8 'zbé%gaaéfoen e 95080, DoLHBE0E :

0 égéﬁé B B8aH emren ©§B0 @oHPY SFOE SHHSE DepaHen LS
€0EI°00.

(IT) FBoToHhd wdseso &) B TR Eﬁ@% 3@ 2636,55 0BT 38 ?ﬂécheatfoen
SONFRow.

(Ill) EB0¢5 grars® Wihend ©d oo &:kod .
F) a‘;gaa?ge)éﬁ INTAY/NS! D&0?
(A)  (II) S (B)  (IIl) S(&d (C) (1) $08cs» (II) (D) () S06cs» (1)
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63. Consider the following statements about Earth’s Crust :
() The crust of the Earth is composed of variety of igneous rocks.
(I)  The crust occupies less than 1% of Earth’s volume.
(III) Density of oceanic crust is higher than the continental crust.
Which of the above statements is/are correct ?
(A) (D), (II) only (B) (1), dII) only  (C) (I), (III) only (D) Al
IS Lé§ (850 65880 Bergrifo)d Lo0HoR QIHD 5°§&>§®?6D 58890308 :
() &b 6588 Ber grio (Léé) QA Ssre ofy Boo&® P& &onod .
(I) &be HBEme08® 1% Bods éé}&é gl & 60080 Ber grito (B0,
(Il) sPo&IJoedsS @§§ 808 Eree £,205°08 g &8s e grifo o whEo.
E) a‘gs%@ess NB/D D50 ?
(A) (O, ) Se@ES  (B) (1), (M) o@D (C) (1), (1) Se@ad (D) ol

64. What generally happens to air temperature as we move from the equator to poles ?
(A) It decreases (B) It increases
(C) It remains constant (D) None of the above

uNInly By Hod Hdo (oareoR) IYI[PD Feedeore o ﬁ%g@éés Jerod S8y

aorHedod ?
(A) o8 SrHEod (B) & 0&HeEod
(C) ob Qborr eotnod (D) 278S® HE =%

65. Consider the following statements about Earthquake :
(I)  There are mainly 5 types of earthquakes based on their mode of origin.
(I) The most common earthquakes are the tectonic earthquakes.
(III)  Volcanic eruptions cause induced earthquakes.
Which of the above statements is/are correct ?
(A) (D), (II) only (B) (II), (III) only (©) (D), (III) only (D) Al
grE05rd8 K$o0HON BIND asaged 58890308 :
(D) Heys 880 egrdore ghrdoaren (Hgrdore ol 8seen.
(II) oS08 FPEronDId BEIE grrdosren.
() ©RHEEEe DKo (DS §rEoares Se8aHBE .
E) a'gaaée)é‘s VB[ D&s0 ?
(A) (D), (I) S (B) (1), (III) Soelead (©) (), () o@D (D) o
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66. Consider the following statements about IMF :
() The IMF maintains funds which are contributed by member countries but gives loans
to all nations from its reserves when they face emergency in the balance of payments.
(I) IMF can permit a country to devalue its currency in order to correct the deficit under
certain circumstances.
(II) The international reserve currencies are the US dollar, UK Pound sterling, German
Deutsche Mark and the Japanese Yen.
Which of the above statements are correct ?
(A) () and (II) (B) (I) and (III) (©) () and (III) (D) Al
@oééogéoﬁa @526?3353 80D &N a‘;gaa?g@éa 588905084 :
1) éeﬁag Baren ©0B0D O 0NOD (‘06‘33?@6&{30)&%, BoHo K)Zéaéwéoés @é?gzééé
H0R8 HTR TroYPeBs ©b 35 o Hod Here BKOB.
(1) S é@&cﬁgéﬁocﬁaéa o 2.8 3o D8Y é@?géaéi &8 éBfDQ Dend é@oéaéaﬁocﬁaéa
DODP ®OBN0H.
(III) ©R08ES b, chrg ok R00h, &GS weons K38 $oBo 2598 DSew @oécgédéa
Basdny EBjen.
2 TegEgest DB/D $&0 ?
(A) (I) Bcsw (II)  (B) (I) s»das» (III) (C) (I) Hdasw (III) (D) @?5&
67. Which of the following statements regarding silent valley National Park is /are correct ?
() The Kunthipuzha River drains the entire 15 km length of the park form north to south
into the Bharathapuzha River.
(I) Valley areas of the park are in a Tropical and Subtropical moist broadleaf forests
eco- region.
(III) The Mudugar and Irula tribal people are indigenous to the area.
(A) (D) and (II) (B) (I) and (III) (C) (II) and (III) (D) All of them
2B0oed aﬁé‘é IH5S FEE $o0HoD BIDHIS a‘°§sp§e>655 N6 /DD g0 ?
() %odPer & ar§) @BwE) Iwgo 15 8.8, FLHT GEBo0d BT (HIZPKR
gES8 $BS® Senyod.
(I) &ch [FPozred) & e SHHRE HOKD SSErHES Srang Send sdho wrHe (Froeedd
BoBID.
() Sme5rE S0k ather &I FIE AdesS Bifen,
(A) () Sdcko (I)  (B) (I) Lodcso () (C) (II) o8cs» () (D) ey
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68. Consider the following statements about the depositary receipts :
() It is a physical certificate which allows investors to hold shares in equity of other
countries.
(I)  Global Depositary Receipts facilitate trade of shares in European and American markets.
(III) Standard Chartered PLC became the first global company to file an issue of Indian
depositary receipts in India.
Which of the above statements are correct ?
(A) () and (II) (B) (II) and (III) (©) () and (III) (D) Al
EPd B2 HBoD BIHD T HB8DoSOE
) =88 drod BodS éa%ogé%e'ﬁ 2 ZOA &oRod SRS @80T el TBY
DODBE
() E0B°HHS HBAD WROES LB’ Y Sariden JBEPoBoH Fad &arwed
82¢5) Hen EO)Fow.
(Il) grBSRES® grséch Earaed B2 &0 Treent $00HOD JwLTWES @oéo;éoﬁa
Eodre Poif 7785 HASH OB .
€ (&} (o))
F) megsp?geés Yo D&0?
(A) (I)Basw (II)  (B) (1) s»das» () (C) (1) dasw (III) (D) @?5&
69. Which of the following statements regarding Planning Commission document, India

Vision-2020 is/are correct ?

() The report projects employment generation of 150 million a growth rate of more than
3 per cent per annum.

(II)  Employment in agriculture would decline from 56 to 40 per cent.
(III)  The urban population will rise from 25.5 per cent to 40 per cent.
(A) () and (II) (B) () and (III) (©) (I) and (III) (D) All of them

PR WA avéa?gaaoéﬁ 20835 D238 - 2020 & HDoohod, BIHS YO0 5689035084,
DB/ A&S® H50?

() 150 0DAHF 0B &rG Sy B Jer 3 o TS HBD K JB6E o
308,

(1) HgHa BoKos® &are 56 $00d 40 eI HEDELOH.
(I) DHéea eswegr 25.5 B*&0 oD 40 a8 HBKN0b.
(A) (I) 800 (1)  (B) (I) £8c%o (1) (C) (II) So805» (1) (D) o)
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70.

Consider the following statements regarding causes of meteorological drought in India :
() Lean monsoon and below average rainfall due to absence of depressions over India.
(I) Late onset or early withdrawal of monsoons.

(III) Prolonged breaks in monsoon.

(IV) Re-establishment of the southern branch of jet stream.

Which of the above statements is/are correct ?

(A) (D), (II) and (IIT) only (B) (D), (III) and (IV) only

(C) () and (III) only (D) All of them

eSSBS écglegl’é EBHB 1o o850 D000H0D BN a°§a3§e>263 588903508 :

() Séaeshorr eoydbiarer S8 MFbKo Hg podrd HEBHT HOBAD Hiftn Bo& SLnd
S50,

(Il) B&HdTres wegorr TedKo Sm SBre B KHI0 (@rdogo seHo.

() HEHs5TEE BEDE wodTraire Seo TS0,

(IV) 86 Q% o deo D) 2HS® HEesH oS mee D8PS (HaPsP0 )BnE) B8
Y (R8BS (erow) 06)26@;8)60.

F) 3"5&35@?35 QB/AD J&50?

(A) (D), (IT) S8 (IIT) S(&aH (B) (I), (II) 8050 (IV) S0
(Q) (1) 0B (IIT) Sl (D) &y
71. Consider the following statements about the Himalayas :
(I)  Himalayas are tectonic in origin.
(II) Himalayas are young, weak and flexible in their geological structure.
(III)  Faults, folds and thrust plains are common features of Himalayas.
Which of the above statements is/are correct?
(A) (), (II) only (B) ), ) Only (C) (1), (III) only (D) Al
PO 80D BHIND a‘gsp?se);éa 588903508 :
() erErocire odons dav g 6dbde oo ol Erards $owoodD.
(I)  3esSeerdsren FREQE 6@5 JorEDI, aae;%!)é@_a:éé) ENVlelonsy) éé%‘é&o@s EetoB.
(1) (Beovw 06 geden, SnsSen OXL PEH&® AYES Poraren o Srdredire
FTBes ©BETPD
F) a‘;gao?g@é's INTAY/NS! D&50?
(A) (O, ) Se@ES  (B) (1), (M) o@D (C) (1), (1) Se@ad (D) ol
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72. Major reasons for lack of financial inclusion in India are :
() Exclusion of the urban Poor
(I)  Inability to provide collateral security.
(III) Illiteracy.
(IV) All-India average in credit penetration is low.
Which of the above statements are correct ?
(A) (D), (II) and (III) (B) (), (II) and (IV)
(©) (II) and (IV) (D) Al
P8ST S0t ©0%¥ DBy TEDESTS (DG Sedeseen
) Heo DB Erore GoSito
(I) EPsS EREI wobod FBISHsen BEFSK0.
(1) QBET°5.
(IV) %oes 53 é@o)GSeS'S B8c%H Srsew SEVRgTelaln R
E) W?Sgpée)t’ss INYA) 0&50?
(A) (I), (I) 0B (1) (B) (1), (III) o8cs» (IV)
(C)  (I) So85» (IV) (D) @
73. The main chemical constituent of clay is :
(A) Silicon oxide (B) Aluminium borosilicate
(C) Zeolites (D) Aluminum silicate
263@65‘5 &0R (HEPS BIHIE éwgo :
(A) 208 @8)& (B) @ersndoho &GOS
(C) BB (D) ©eorgaho HOSET
74. Consider the following statements about the Non-performing Assets (NPA) :

() Any asset, including a leased asset, becomes Non-performing when it ceases to generate
income for the bank and are called Non-performing Assets.

(I)  As per RBI guidelines, NPA does not include short duration crops loan.

Which of the above statements is/are correct ?

(A) (D) only (B) (1) only (C) Both (D) None

(‘Otﬁgé e0e (DSHN)0D H02060D) BIKHSD gD 5689035084 :

(I) @505 ewrcho woboiko SrIHSYD OF e ElE 5 OB ey NBZEore Soth&Hoty
3B B JBLE &ined) wotrd.

() o500 88t (Hdo, JeTdE Hokderen SO BED.

F) a‘;Sa)?S@eSS O/ d&so ?

(A) () S5 (B)  (II) Soo(&83D (C) Bokw (D) 33D =2H
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75. The Chairman of the Cabinet Committee on Investment is :
(A) Prime Minister of India (B) Finance Minister
(C) Commerce Minister (D) Governor of Reserve Bank of India
BRRD0S D SIS 8w DS -
(A) g8 (S (B) @gé Soo(&
(C) aeedeyg 00 (D) &rd8 bl ergod HSHE
76. Which of the following sequence of population density is correct ?
(A) Netherland > Israel > India > Japan
(B) Netherland > India > Israel > Japan
(C) India > Israel > Netherland > Japan
(D) India > Israel > Japan > Netherland
23FPOBEH D020HOD BIHH SBVEIPES® Hi J50 ?
(A) ol > eSS > grESERE0 > edrS
(B) IR0l > grESERE0 > B(eP S > S
(C) gr88LE0 > HePHS > IS > 2:dS
(D) gr888E0 > B(ePdd > &3PS > IBTos
77. Which of the following statements regarding erosion surfaces is/are correct ?
() Pedi plain is an extensive erosion surface of low relief with steep- sided residual hills
that has been formed by the coalescence of several pediments.
(I) Pediments is a gradually sloping bedrock surface located at the base of fluvial- eroded
mountain range and is found in arid locations and normally covered by fluvial deposits.
(A) Only (I) (B) Only (II) (C) Both (I) and (II) (D) None of them
65880 Zoire $0050D BIHD (BSOS DB/ &0 ?
I) & PowS S0 FBL0e wedEd 08 HErdos’® Jwarer 08y SFokes®
P80 (B8, 0b DKy DEDok $0dIEE® Erdrohod.
(1) DEDoty B8 Erdd Todor) Srddeo D5 BBS® E8AZ errd 8od® HBckn
&, (@rozrod® 83208 Fgrdmorr SrErdE E5od eHR3.
(A)  (I) S8 (B)  (II) S (C) (I) 85 () Boke (D) 3D =29
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78. The Union Government has allowed 26% foreign investment in insurance sector in activities
related to insurance. Which among the following is/are correct about it ?
() The 26% cap will include FDI and investments from FIIs and NRIs.
(I)  Earlier only FDI under the automatic route was allowed in insurance companies.
(III)  Arvind Mayaram Committee has recommended these changes.
(A) (), (II) only (B) I, dI) only  (C) (I), (III) only (D) Al
D> Sorfos® DI $o00HoDS S°6§ée5°©°e§§ 26% B3 D0 Bolss (800
©00B0N0B. BINS FAS® B/ D&50?
() 26% $08 ©I0 P& O JPow HOAW ASslwe Jegateos Lo EON
608008,
(1) K808° exP5rBE 5re58® Sr(Edh HEwedy Dir EondS? wdd®ome.
() ©8E Srasroed Ed & Lrdne DFSHeD Swod.
(A) (), () @SS (B) (1), () @S (C) (1), (1) Se@Dd (D) o,
79. Consider the following statements about the Inversion of temperature :
() A long winter night with clear skies and still air is ideal situation for inversion.
(I)  Surface inversion promotes stability in the lower layers of the atmosphere.
(III)  Over polar areas, temperature inversion is normal only in winter season.
Which of the above statements is/are correct ?
(A) (), (II) only (B) I, dI) only  (C) (I), (III) only (D) Al
é%@ﬁ@ DSEEP H020080D HIHSD gD 568905084 :
1) Soopen B es2do8” ol dorsror) DOITI@ HBaw e MO SIS e8y)
0“36?8@.
() &880 o arersdeo BIHS FPBSE JeBED HoHEH0s.
(I) (0 (@romrend eef(iee Q54500 Barsrood® S Ferdeso.
F) @5335@6‘3 AR D&50?
(A) (D), @) Se@ES  (B) (1), (M) @ (C) (1), (1) Se@ad (D) o
80. Which of the following countries will be a partner in the proposed National Investment and

manufacturing zones (NIMZ) in Andhra Pradesh ?
(A) China (B) USA (C) Japan (D) U.K.

WOBHAES® (HBFHE JAXS aBRoeT wok LrdugaRgEi0on &Y (WSooBE)S® BrHd
DR, Beros® B grEIR S°00b ?
(A) B (B) oo (C) w5 (D) 50.B.
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81. Which of the following statements regarding plantation crops is/ are correct ?

() Brazil accounts for almost half the world’s production of coffee and it is mainly grown
on the eastern slopes of the Brazilian Plateau.

(I)  China is the largest tea producing country of the world but the Himalayan foothills of
India and Bangladesh, the central highlands of Sri Lanka and western Java are the best
regions for tea Plantation.

(A) Only (I) (B) Only (II) (C) Both (I) and (II) (D) None of them

@;0&3515 &ero% Ho20H0D HBKHSD afgspé@@s A8 /AD “&0 ?

1) ©HoSos® Imdo =25 6H)BS° Ko BRS $H0D $od LBAM (HEesorT BRS Hisae
Er8y) aren (Fozest 8 Swen DosaEron.

1) EDHoSos® Baskrd e8s® Bae SRl @wé@éﬁg gPEBRE0, DOrPEEeE Srdrecd
DB BarTren B Seoos &% Sogggaseeiio, e HB)h (@rodo Boird e
ODIID.

(A)  (I) S (B) (II) &3 (Q) (I) S8cs0 (I) (D) =3 =H

82. Which of the following fire cannot be extinguished with water ?
(A) Plastic fire (B) Oil fire (C) Textile fire (D) Wood fire

8% Hoerdt B VBE° wdySabvso ?
(A) RE ot (B) S&wd oty (C) e Hvodd (D) B ot

83. Only one of the following statements about Solar cells is false. Identify it :
(A) Solar cells contain layers of silicon.
(B) In Solar cells, sunlight stimulates the movement of electrons to produce electricity.
(C) Solar cells produce alternating electricity.

(D) Solar cells are also known as photovoltaic cells.

Y Soere HB0D BIHD T’ 288 IrEDH wardto. Tl HBoSE.

(A) RPE Hoeren IS T DA Goeraw

(B) 8 Hoerd’, DgED 8P VI Jo(FR EEOELDH Kriseod sBRE0 Byod
(C) 8 otren wgBIBoR RS &&G Vo

(D) 8 Foero @%S‘sﬁsegwg SHotren 09 Erme @otrdd
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84.

Assertion (A) : Mutual Funds serve as intermediaries between the general public and the
capital markets.

Reason (R) : They invest the money of the public in the securities market.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

S TEo (A) : Frdes (HerdBo O SHOS KBy K¢ B0eBRHERMT HugSSS
HoF) B DBK oD,

580 (R) : o (Hee Keo ?oé:g@é%e) S0 DeRlT DEFED.

A)  (A) 5805 (R) Borr SaEegen $0a (R) @36 (A) & $B8 58es.

B) (A)£80io (R) Borkr Szogen 529, (R) @38 (A) H S8 b8 506,

o =

(
(
(C) (A) 380 == (R) @58s0.
(

D) (A) o380 s (R) $50.

85.

Consider the following statements :

() Soil formation of pedogenesis depends first on weathering.

(I)  There are five basic factors which control the formation of soil.

(III) - Soil forming factors act independently and do not affect the action of one another.
Which of the above statements is/are correct ?

(A) (I), Monly  (B) (I), ([Monly (C) (I),([Monly (D) All

BHS (D8RS H88D0S08
I) DEBID ¥ SPs° Ber K0 B0iey TPTHBE0P SBEHE SOLnod.
(II) & Bsro wozren & @@&Cﬁgéﬁmﬁ)& Q%o (@notron.

(1) S ErEP0B0E WoTen JOED BOBFID 08w a8 el IETES (Dgrddo
ZHY).

2 ages® B/ BE50?
(A) (O, ) Se@ES  (B) (1), (M) o@D (C) (1), (1) Se@ad (D) ol
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86. With reference to Rajeev Awas Yojana consider the following statements :

() About 250 cities of the country have been planned to get covered under the scheme by
the end of 12th Plan.

(I) “Mortgage Risk Guarantee Fund” would be constituted with an initial capital of I 1000
crore, so as to provide institutional credit for house construction under this newly
proposed scheme.

Which of the above statements is/are correct ?

(A) Only (I) (B) Only (II) (C) Both (D) None

oedS el @radd $02080D HIHH TeEgw 588903508 :

) 128 HoSSY, (HeerdE VB0 T8 BFoS® KoLrdr 250 STreody 88 HEEo 808
EHorTred  TndoTed.

(I)  ¥1000 &%) esBoas 'zbé.gaa&@s ’eﬁﬁgﬁéé_ 8, n‘géoé% HOE D ABBTLTD. STegoe S
&S (DBIHS %&5) oogo° 508 AoE0 g%0 ‘éo@sﬁé Boea0 @ooSE0 & eé%o.

F) a‘;gaa?g@és A/ $&g0 ?

(A) (1) Sr(E&D (B) (II) So(&d (C) Bokw (D) 23D =2H

87. Only one of the following statements about ‘vanaspati’ is true. Identify it :

(A) Vanaspati is obtained from animal oils.

(B) Its formation from the oil is a physical process.

(C) It contains less fat than vegetable oil.

(D) It contains traces of nickel.

‘BIB’ 19809 BIHD Tegages® a8d IR B a0, TR KHBoKod

(A) 20& Jo2058 I HoD SHSHBI Froheo

(B) $r3 %00 wd ErHomE’sto el Fas [HBad

Q) IBerewd wowd Ea7) SENH Yo EOA &otwod

(D) JBS epfod ob EOA &otnod
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88. Iodine containing hormones, the deficiency of which produces mental and physical stunting
in human infants, are :
(A) Ethylene and cytokinins (B) Abescisic acid and gibberellins
(C) Aldosterone and androgens (D) Thyroxin and thyroglobulin
B3HHS wBrES *Ho IrERE, 088 wTrEmed wb Bkod. & wTrES ZOA ol
KﬁSBéé)ex :
(A) DS LH8B3sm 3_)&3‘%?05{3 (B) oZRE & 0Bk BenBOR)
(C) o836 Kbk wol&RS) (D) BE°&S LoBcsn S0 dS
89. Which of the following is a plant micro nutrient ?
(A) Ammonium Phosphate (B) Urea
(C) Zinc (D) Sodium Phosphate
BIHS B DB B8 Grf) VABo?
(A) ©3cHo e (B) oheBISe
(C) 0§ (D) RB&cho e
90. Typhoid fever is caused by :

(A) Salmonella group of bacteria
(B) Pseudomonas and nitrosomonas group of bacteria
(C

(D

) Sulphur bacteria

) Rhizobium

Barank axBo BBy Hod ?

(A) FERep (55 of arfdasr

(B) S&fB0mel 508w JEPRB0TS (D ©f erfodse
(C) Db 25"%6(553“’

(D) B&Ho%o
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91. The normal glucose content in milligrams per 100 ml of human blood is :
(A) 10-15 (B) 68-96 (S 2-3 (D) 100
100 0.5. $085 6_écoeS’S drdesonr Gok r‘ﬁ;g%sw H85e90 (&éwm@ﬁ).
(A) 10-15 (B) 68-96 S 2-3 (D) 100
92.  Which of the following vitamins is used as an anti-beriberi drug ?
(A) Vitamin A (B) Vitamin B (C) Vitamin C (D) Vitamin K
BIHS DeogS® B cirod BOBO TdFore GOBPAIE?
(A) DODWS A (B) e B (C) DS C (D) DS K
93. The most commonly used oil in “oil-based paints” is :
(A) Castor oil (B) Turpentine oil
(C) Linseed oil (D) Oil of winter green
BE0B errdS Donoeys® 08 Fgrdesorr DABPACTS :
(A) =8 sond (B) @8BS sond
(C) OFHE esond (D) sons s Jowd AS
94. Diamond is a good :
(A) Thermal conductor (B) Light absorber
(C) Electrical conductor (D) Semiconductor
dlezo SHE.....
(A) $S 8ot (B) =08 ago
Q) Desgd a0 (D) ®8 adrso
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95. Which of the following chemicals is not a constituent of urine ?

(A) Amino acids (B) Urea (C) Sucrose (D) Creatinine

BIHS Brchars DB Som@od® grrfo s ?

(A) @S @dE) (B) cSrdse Q) 8% (D) (BGHEIS

96. Conservation of biodiversity includes :
(A) Conservation of plants (B) Conservation of animals

(C) Conservation of micro-organisms (D) Conservation of genepool

B53Dg H0BLes &) BOA Goenod.

(A) JoHen HOBEes (B) xoHPo HOBEe
(O Brgdde D088 (D) &E]eS H88%e

97. The best way to tackle local environmental problems is to :
(A) Use the local administrative machinery
(B) Implement environment laws strictly
(C) Provide environment education to the local people and create awareness

(D) Leave it to the local public to decide

ﬁgﬁ)é HoegdBes DGR HOPOOToEE BB Lrgo ?

(A) P8 aroTe aolErorTy) eHdrAosEo

(B) Hogden Sepoy EBJ0M @en Fo%Eo

(C) I8 Pao HogHden Dy @obod TBS® SRS DogRod oSS0

(D) Qo) FIE (Heues $68HE0

NTRVSET-2015 34



98.

Where would one find the device “catalytic converter” ?
(A) Polymer making plant (B) Nuclear reactor

(C) Automobile exhaust unit I (D) Water purification plant

BLOBE 85PE” 688w TS GHTPATE?
(A) FOHE So5rb oo (B) o8008 80irEE

(C) o&IBS Y S 1 (D) J& % o5

99.

The common pesticides which are in use consist of :
(A) PCBs (B) Organochlorines

(C) Olefins (D) Heterocyclic compounds

B 63) Feedes (B HosFEESInen EOA S0L
(A) PCBe» (B) &8S*5BS,

(C) a8y (D) 285288 Saly¥aren

100.

Which one of the following vitamins is essential for normal blood coagulation in animals ?

(A) Vitamin A (B) Vitamin K (C) Vitamin D (D) Vitamin C

20%0:9E° 880 Frrdem 88S° K Sipwod BIHD HLLYS® & EHRHS ?

(A) DS A (B) &S K (C) DS D (D) D&MWS C

101.

Noise pollution is measured in :

(A) Watts (B) Becquerel (C) Decibels (D) Lux

¥y sPeoarsR) BAS® SRt ?

A) =& (B) BEBS (C) Treod) (D) ©F)
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102. Which one of the following is not radioactive ?
(A) Astatine (B) Francium (C) Tritium (D) Zirconium

8193 BE* DB TEDe Greo K ?
(A) P8BS (B) (@PR)TH& (C) B&c%o (D) 258%0%&

103. The major cause of all air pollution is :
(A) Anthropogenic activity (B) Improper technology
(C) Combustion (D) Industrial growth

o) sPe TPain swaﬁ;g@é (S se8es0 ?
(A) ©ol@aEE ErEDd (B) &*Hgirony JFoSHLY
(C) Soa¥S (D) s $)8

104. ‘Wild life’ is presently used in the context of :
(A) Forests (B) Wild animals

(C) Forests and wild animals (D) Protected animals and plants
‘BS BH'D ((Eo S8 Dorr DITPARTNO :

(A)  8dHen (B) &S&gerea0en

Q) o&Hen B Hilgereaen (D) 888 0&HHen HOXMD In)en

105. Environmental degradation in the Himalayas has been mainly due to :
(A) Increased tourism
(B) Large scale deforestation
(C) Poor road and dam construction
(D) Political infighting and instability

Srsrodire? HUHEerd8 Bay) (DEPKOMT S SeERorT S50 BTN
A) 0BAZEoDS Hoegerto
B) epvéa(;cmé‘s oEHe 5683

(
(
(Q) arre 8 Bsrmrden SB35 838he o0
(D) wresdod S HBA% @B

NTRVSET-2015 36



106. Green house effect results from the trapping of :
(A) Short wave radiations (B) Long wave radiations

(C) Visible radiations (D) Ultraviolet radiations

3B Foaren HOF0 ASFTR I§ ?
(A) He) E8oK BEHHS) (B) &Y S8or TEDKY)

(C) dBenS TEGHAS) (D) oErS@08E TEGHHS)

107. Radium in radiotherapy has been replaced now to a large extent by an isotope of :

(A) Fe (B) Pu (Plutonium) (C) 1 (D) Co

BEIBrREHS® TEIDHoH athere TerddH & aPEtHH TG ?

(A) Fe (B) Pu (e®dc%0) (C) 1 (D) Co

108. Deforestation results in the disruption of the biosphere because forests :
(A) Are vital to the maintenance of quality
(B) Limit soil erosion through the binding effect of root
(C) Are the lungs of the planet modulating the climate

(D) (A), (B) and (C) all

©EHO $883% HOSorre St Jedbdo ten ToBonod. Bo&E S0 wEHen
(A) Jeeago BT do& &o¥o

(B) 3% @) @0gd [HrHo woe aegaird) SAToom

(C) &8 rsterd)) SHOT HOBHEoE

(D) (A), (B) £80 (C) oo
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Passage I (Question Numbers : 109 to 113) :

I cannot picture to myself a time when no man shall be richer than another, but I do picture
to myself a time when the rich will spurn to enrich themselves at the expense of the poor and the
poor will cease to envy the rich. Even in a most perfect world, we shall fail to avoid inequalities,
but we can and must avoid strife and bitterness. There are numerous examples extant of the rich
and the poor living in perfect friendliness. We have but to multiply such instances.

I do not believe that the capitalists and the landlords are all exploiters by an inherent necessity,
or that there is a basic or irreconcilable antagonism between their interests and those of the masses.
All exploitation is based on co-operation, willing of forced, of the exploited. However much we
may detest admitting it, the fact remains that there would be no exploitation if people refused to
obey the exploiter. But self comes in and we hug the chains that bind us. This must cease. What is
needed is not the extinction of landlords and capitalists, but a transformation of the existing
relationship between them and the masses into something healthier and purer.

The idea of class war does not appeal to me. In India a class war is not only not inevitable,
but it is avoidable if we have understood the message of non-violence. Those who talk about class
war as being inevitable have not understood the implications of non-violence or have understood
them only skin-deep.

Exploitation of the poor can be extinguished not by effecting the destruction of few millionaires,
but by removing the ignorance of the poor and teaching them to non-co-operate with their exploiters.
That will convert the exploiters also. I have even suggested that ultimately it will lead to both being
equal partners. Capital as such is not evil; it is its wrong use that is evil. Capital in some form or
other will always be needed.

Passage I (@30 I0. 109 Lood 113 S8H)

(9550506° DB Erre 5E°ED Lol Qod8yen =29 669)61350&353 2208 B =8 DHise seBmore
P50 KOOI HodEYen (18P0 Braird) HoA Hobne HE I §rar) Hien
eﬁéoené'séw@cl SrBo I esdroEKe. 0508 HOIY (KHoSost Erme oddrSSob
ErHSeHEos® Hdo HedvdHzeo md), Doy LBk 8)850%50& b0 E)osH). SyoTed
Srme. YoBinen, HESen HBIE D(Br08° EDRNTNEI0KH ©PogrgE STETEen GITOD.
©ero® GEoTPORH N0 OIE ey TATD.

BT $HOCH FrRrEnes wose e X@é)ﬁgé@% 885053 TEY™ GOLrB ™S Soe
00D 0O D& (HRoeesare SN ERIARINS S K)@&Cﬁg%'sé@ 380 6o md J DBROB.
&8 woze &rre P58 E 20 JPSE0R, w8 &% NG BHEE0R BEPEDHG G000k
& o) ©0ABB0BOHH HF0 odre BHEEDNoSH)BE, e o SrEo ©d. SHHHI KB
Q éa?b&o?ﬁofﬁ)é) (Sdezen @66&6?5_00, &8 033 ok, oD B 5‘3&30 (©38208. 038 é@a’)é'ﬁ)
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%e)osp@@:éa H055H DA 0ETo. BB 5(‘0& @Cfg‘é'savé). 50805 3053033(30& _zbé.%gea&méa@:éa,
geae e DEPDosEo s, Sohdyen, DG S0y (B0 EIFrHER) Sowogrel Hdod
@65?%60&?@_326, K)SZSQQ__):SS)W é@é@péédﬁ)c‘ﬁo.

été@smeao 885355 T SHed. PESB IS égsﬁﬁcoéoo @Kﬁs@oiﬁfﬁé& 520 B0 @0
?ow;o@?@& 58 Hodo @go B0%08 o). éé%)o)oéézﬁaa. égfb‘s@@o é@tﬁ@ FH0T T @O
SBoo) HBFHITOR @go BB, Soe DS SeSED @go 3(}3&5&63.

A 6557153§52665°c‘0& 8359 Ke0TeA, e 3008 DHoDNINOK 506538)06650 0 MHOT, DB
@éﬁo‘ﬁaé@g@& SoR0SE0 B EFHET 068 ébé@oiﬁ;ﬁcﬁg @ Seosto apNo 30‘5051531). o
&8 FD 6 Erwe $70)508. VBB Bo Spere DS grrdEnen S0R0ND ErTe ©b
(1) @‘@Doéf{) 3 BB, 3)@&&& O30 eSS0 5. Q) ghedore GO@rA0SE0 &) D& 28
BErHoS? ?necheo& OI0 ©5580 ©5HE0s.

109. Examine whether the following two assertions have been made by the author in the passage.

(1) Exploitation of the masses cannot happen without the co-operation of those who are
exploited.

(2) It is possible to create a society where all are equal and no one is richer than another.
(A) Only Assertion (1) is true

(B) Only Assertion (2) is true

(C) Both Assertion (1) and (2) are true

(D) Neither Assertion (1) nor (2) is true

BN DB Boh arsgen 5ot SBowd DT 86° HEGosod.
(1) &S558 0 $sedo 88 He SHE esdorit.

(2) =288 808 LoB°EH QoHHo 2 DFore, @ose JITJoMe &0, 0y éa%alo?jcﬁo
Jed5aD.

(A) (1) 850 SrE@H S50

(B) (2) o850 Sr@dh Sso

(C) (1) SoBS5w (2) arsogen Bokr H&g0

(D) (1) 085 (2) s BoEr S0 S0
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110. What is the reason as per the author that the exploited continue to bear the exploitation ?

(A) They do not have means to fight against exploitation.
(B) It is their self which prohibits them from breaking the shackles of exploitation.

(C) Often the exploited ones are ignorant about the fact that they are actually being
exploited.

(D) All of the above.

&52a8 FHEGgE @ grord) IPCHEER) FHPA0LBOLL DB S8 BBond FRART)EH?
(A) &°0A8 58850 HFPTEoHEH SIS FgTren 0 $& S,
(B) && &°& S08E% BoHESHome 08 535630 EleHd) @c‘fgéaoésso&.

() e Sosond, wosn &Fnl8 HEHHTYDHY) iAo Erme BODI ©SPEDHESE
67088 5y T Gotr.

(D) 25

111.

What remedy does the author suggest to end the exploitation in society ?
(A) Replace capitalism with socialism.

(B) Eradicate capitalists from society.

(C) Permit a class war in society.

(D) Educate the exploited not to co-operate with the exploiters.

$5res08® BFHAD ErHBETDOHE SSowd SrNoDS HOIBO IS ?
(A) tppdoed deedo FXos® FHdwo Sndodio.

(B) $&ra08® Kod S5 DPOR ABTDoBEo.

(Q) d&wesos® SFPoeer)) ©oHBoBKo.

(D) &aémrthos Edostom GomdobT &PHEs HBHEK) T8 wdrries SORoBEo
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112. Which of the following statements can said to be correct ?

(1)

Capital is not evil but its wrong use is.
By very nature of their work capitalist and landlord become exploiters.
Complete elimination of inequalities is an impossibility.

Class war is inevitable.

1), (2) ®) (@) ©) © @ 06 D) @) @)

BIHS (HBELISE DD $BXD BN ?

Raé%ga)& grBo 2% md Q) DDA &% ghrsso.

B B Jegrddag SO0, APIgE0eD & medene Sroeds.
BJEPSB0 FeOT SoR0SE0 @I OISO .

SgFTe0 SN

@, @) B @ B © @, 0 D) 2, @

113.

Which of the following can be said to be the most important core message of the passage ?

(A)

(B)

(©

(D)

Capitalists and landlords are not exploiters but circumstances make them so, and the
exploited ones are themselves responsible for it.

Perfect equality may not be possible but strife between rich and poor can be avoided,
not by eliminating the capitalist but by teaching the poor non co-operation with their
exploiters.

Capital is not an evil nor are the capitalist. The rich are as much needed in the society
as much the poor are needed.

All of the above.

BHS TOSE B S8 500 ) &o¥ Yoddore BH)HE?

(A)

(B)

(©

(D)

SRODRRen HHBAMH Prdrgiven FFRlThen b 50 HBREHes B BT KroHe
5805 EPHES HEHES) T8 ©otH ariyd Heromed.

HBFY SLrSB0 g SEEB PR DoBINeD, D Kiy Ve BoSBL). @b
& SRedok AEMDoSEC TNoe RO, &S0é e BEPEBOSHE FIAISES)
SeoSo TPYO®.

gl IO B0 . erT egadartien Ere. JEmesoS® Dfen Dod wHHEIe
Qoddyen Eree 903 ©S5HB0.

E
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Passage II Question Numbers 114 to 119 :

A central feature of the market is price. Prices in a market economy typically emerge not by
directive but from the decisions of millions of individuals trying to buy and sell goods and services.
The prices that emerge from this process are not always fair and, for that reason, we have laws
against collusion, anti-competitive behavior, and price gouging. To go beyond that and try to hold
prices down or up by diktat is not, in general, a good idea. It tends to introduce more distortion
and bias than the problems it cures. In economic policymaking there are very few inviolable
principles; and there is no denial that there are some areas where prices may have to be centrally
controlled. But these have to be kept to a minimal list.

The distortions that arise from such price controls are easy to see. First of all, to lower the
price of a good by government diktat means subsidizing both the rich and the poor. Thus once we
lower fertilizer price or the price of diesel, large farmers and large car owners also get the subsidy.
If we try to prevent this by creating a low and a high price, a low one for the poor and for small
farmers promote bureaucratization and incentives for cheating for cheating and corruption are
rife, since the one who gets it at a lower price can buy and then sell it to the high-price consumer.
It is not surprising that the poor complain that when they go for their share is often sold more
profitably to the rich, who pay the market price. This is just a mild manifestation of a problem that
was ubiquitous in some countries in widely used. Prices would be low but goods’. Customers
would be turned away or made to wait in long queues to buy limited quantities of basic goods like
bread, butter and soap.

There is another problem that arises from prices that are kept low for consumers by government
diktat. Firms that produces these goods would end up making a loss; so the government has to
subsidise these firms or pay for their ‘under-recoveries’, as this is euphemistically called, to make
sure that these goods are manufactured. This in turn means, first of all, a larger fiscal deficit with
all its attendant costs; and, additionally and in some ways more importantly, the incentive to be
efficient and cut costs virtually vanishes, since the firms know that in the end they will be given a
subsidy by the government to cover their costs, whatever they may be.

There is a third problem with price controls. Prices are signals to consumers and sellers and
all those who deal in these products of shortages (or, equivalently, the rising cost of production)
and abundance. Prices rise when there is a shortage and decline when there is glut. Once prices
are controlled, we effectively cut off these signals. Take petroleum products, for instance diesel.
When the international crude price rises, for India, which has to import the bulk of this product,
there is, effectively, a shortage. If prices were left to the market, diesel price would rise in response
to this, ordinary people would economise on their use of diesel, and demand would decline, as
indeed needs to happen, because the signal of shortages and rising cost of inputs in the area of
many fuels and energy resources is not permitted to be transmitted to the consumers.

All these costs add up massively, creating inefficiencies, large deficits, and extra- inflationary
pressures (for goods and services that are not controlled). Hence, we have to take steps in India to
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move away from price open to the vulnerabilities of the market. It means that we should subsidise
the poor, wherever possible, directly, that is by shoring up their income by making transfers to
their bank accounts or giving them cash. With India’s growing sophistication in information
technology and ability to identify individuals by bio-markers, this is now entirely within the realm
of the possible. Of course, change always means some transactions cost. But to resist those costs at
all times is to court perpetual poverty and live with outmoded institutions.

Passage II (©&dogg 114 Sood 119 J85)

LoeB)) B0 (DS ©Feeo 8. 2.8 S0)Es éegé‘cgé‘s BBen @3%@6&éom DeRsd T, 5 DHedd
E°R0%0% HHBXW DBanoBOLHE @’)063@&03 OFPd e JBare Hod ©d Kg)éqg%"@_gow &
BH8che ood @@ngéz) B0 ey S DepHre, JABDore 6ok, & e :é'f_op, é)é)éé)&
PHOT GOLOHB, dirodl SPobABS (HHEHH HOC $8o HBTI KoPoHOD HIL Beperuma.
PR 8 ?ﬁwoéﬁﬁé’%} faleJOIY) é@o?ﬁocﬁﬁs, oBoHE® (Dch&osEo Sood 885358 8. & eSS
?.’)6&3@;603 é?ﬁ)@g@ g9 Trre B & DR éé}‘é)gen 53855 €08°00. e—sgé é)mzéébgoﬁso@: &8 5L oS’
©BBEDOTERED Jr(@een 08 §° SP(EB Gotrow. o5 JFore B BB FBoK ADo@omeONS
Borren Ere SNS0traddnel) Eree 85500580, 50 B wrder wrer SENIT Gowed.

&3 DS 8 dodho(Ees H¢ gOR cﬁa@éw"zﬁﬁ@m $QoSEo S8, @9&)&0& gods éwgpé@_oo&s,
28 B S5 HeHdy et T Shrond® GoSEios Kodinen, Do aged KL
a@@@. &3 Bore B0 ABHe 8 S ERS 8% e‘é@‘?_\g g Boen 0BG DG 50 Cesdredoen
B0 & é?‘ibé PoHELD. BEND HB 000 ENS BB jo.)%(ﬁo Toe, ©08& H%en KBS0 AL
Do S 8 8B ©b argtEBRNSD HBAD ko VIS, ©AV8E [Der)rsees ©oB0dIT
©H&08. JohHEos BENS FBH e 3 38, AEYS FBH TEI S 08 DB onFe. S
e S5%0 Bé, )] @Kao)éfﬁé 25?8&&5 [ B§o3 QODN0B @HE rgrodd HECNOHBREN D&
$Hooged BosEo s BgEeohEo oK. ‘éé’){bé@ @°zﬁ)6§oé’5 S Saess® A0 D5
K)J°§&OTT° é%;)é) é@é@m SO @cﬁaéﬁ&i} 28, B8en éé)&ém 08D ™ & $80% oo 30 en
Eyore éé)&éémf) €00, SENS K)@Eﬁ:oest’@i oo [BE, 33%5, Sap)en oo JEegsdTeed EF0%5%
3T FHPemrten © 88 08 BHotrdh Sae Frrd Lused® 30 somed) $ob.

(©5ghe w3308 IS 80 é@ﬁ;o&:éﬁ &0 BB 55t D0y Eree 2B )Eob. &
S8HO S0 To ZoDden Sepod SDBroeron. HOSorr (Hghdo s QoPeB ©3) Bakr
SHeB 658 Sahmed) FsFRoTonD $dles HEBoTd Sae ‘wois 8558 (5 JEHo H9
BOAD zéo?gen) BYoTPd) Gotnod. Bd JowodS @°®2626§o‘53°e>§5 D5® g8 ﬁ;owess e—sgé Sendo
BOA0L. ©idorr SHBn HBER) Derarerrr Safod EOAN0D. 6&8 HKoho dod t%?é&égé%é
BB (Hgh&0 o ééibée» ©0HB°0HY) DAGHo Bonded Bendd sw@ 5"&3%3%, e
DaboEend «ot (Pamirsren @) aeon.
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G5B DoHo(Heas® Homed D0 B 60h. DATPHTHIOD, EHTHOE HOH &die
eéojééap@s @33@530 Boar80s08 Erne 88 (98 dSorr 658 2650‘530 BB So20HoR
i) b K)Eﬁ)@%% L020050D HBen ﬁo‘ss@veggoé%c‘b. S elx) & FBen BHTPOD B
DA G PBen Srhaeow. Foo KHE DeHo(@7 Hdo & DoBered (HerSrdsorne
QODFNNEB. DEPODo Tego ereseSeare &ad Bewd Bodomro. @oéo;édﬁa 508 S Y
ORI, ©BHE Fons® HY BrHHS THEHI FEEETR8 How0Gon, TS DEHHOB. FEK
K58 $70)E58 6T, 5008 Sosoe 886 Tew 1BIHH08. FTSem (Herdbo 85 dad vTore
BR0HB0LPL. HOBore STl SrHEood. Srrd Sre. Do&rE0d, 955& OGS B $8 Soreed
o8 HOI B0 Hgodre DBIDE Jo8zren DABKTEHOH 3@@(\) SOB.

& ol BETIFES Sod 770 IvzedH BHER @%éac(;?geéa, erd SPeneod B
OB5Y - (55 28H) (A0HoEes™B $5 D P) EOARTYOD. ©oHDY, ersEBEos® ko
S0 BPeinrhe (Herard8 ok STV BH BBgen BT @BIBo sod. @od Hido
D0 5 K)e‘i)“)ééb @éé@é@&ﬁs;@ﬁ B&sEore $5r5eH JBore wE0 Sae &g rare abd Bahio
ToO° 570 STPCSr) 20T (HEHE0 BAT. a?éq)éééﬁ BsodS® r88B0 )BT Jo&® wrHABSK
D0BB0HEF0L0N, T éﬁé&é TO° @05 ééé_)pééa ?%903 03_?/.9)89"’50?63 ém@goéﬁ&oé}é, B
Lo Eree @éééé&m 600, Set)BY)ir Do&® o HBRYS Lo BQO&SJ%SWQ) $53006.
509, o) 3%493;3’ PO ééoﬁwoéa A BoSE0 ®ods @é&éom m@@ﬁgoés B sPe0 IO
é?gééogs Bod S0S.

114. Which of the following conclusions can be drawn from the passage ?
(1) Prices of all products should always be determined by the market forces.
2)  Price controls create more problems than they solve.
A) Only inference (1) can be drawn.

C) Both inferences (1) and (2) can be drawn.

(

(

(B) Only inference (2) can be drawn.

(

(D) Neither inference (1) nor (2) can be drawn.

8 500 Toe B DEYG) TS O HHJILAEIE ToHy ?
@) 6o FEoo Erme LT oS FKoB SrEH DBonoBtd.
$Bo dahoBemen © HOPO0L TEET JEND D50 RI°ow.

(

(A) (1) % 0B LD (0SB,

(B) (2) 0008 IrB (18r05H8y),

(C) (1) 2oBcSw (2) @80 Bo&oB (18P0BHL).
(D) (1) 208050 (2) @5W&HS B (H&rosSo.

NTRVSET-2015 44 A



115. Which amongst the following can be said to be a distortion emanating from price control ?
(1) Non-availability of subsidized goods.
(2) Lack of equity in market, as different sections of society and economy pay differently
for same goods.
(3) Signals of shortage of a good are not transmitted in the market.
(4) There is incentive for bureaucratization and corruption.
(A @, @, 6,4 B 1O, 6 & © @), 6@ D) @), ), )
BIHS eBS 320& B8 daDo@es (D&TFe (Dgrdore BNL) ?
1) 2HE ShHen oPosERESS0.
(2) 28 DFDS I Hdreeso HdAkw e—sgézﬁééé S5 AR Eéoge» DY) Beeenrr IYoTeO)
oS0 g &rBsE” Bl (S8msE0) SPRoisto.
(B) 2.8 SRHDH IES T8 HoBeren 2631@&6568 (BFBo seERESLo.
(4) arBEBEAS ok @IS Dieyro.
(4) @, @, 6,4 B 1O, 6 ¢ © @, 6@ (D) @), @), 6)
116. Which amongst the following is not considered in the passage, as a problem associated with
subsidizing of goods by the government ?
(A) There is leakage of subsidy as rich are able to access the subsidized goods.
(B)  Quality of the subsidized product is not assured as the manufacturer has little incentive
to offer better quality.
(C) Subsidization of goods leads to a large fiscal deficit of the government.
(D) None of the above.
&8 aggéoe’i‘s BIHS B B, FHDeP (Deh&o 'a?nb éé’\}\)é@s S0EHES g $B0SBe0?
(A) $E ShHess Bossnes Erme TrodKerdEsoms $dbes SHEES Drbdmom.
(B) BRS T°eag0 @08 0o [BfEyrEo arivir@ort sokto $g ééﬁbé Do Treag8
B soko S
(O) o P YA (He0EHBore gr8 o 688 S wd SFod.
(D) I =D,
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117.

Which amongst the following is suggested in the passage to counter the ill - effect of subsidy
on goods ?

A) Create a dual price system so that the rich do not take benefit of the subsidized goods.
B) Transfer subsidy directly to the poor in cash or through bank.

(
(
(C) Both (A) and (B)
(

D) Neither (A) nor (B)

S50e SOE BsiEo HRYBEPETORH MHEURoHS BiHS TES® Db “rdosndod ?
(A) &08% B JerEard) 3)6036{.?6). Boegoe é&“}c‘% S0P (DRresel) HoDKNEeD PoBSE.
(B) ®&ED DS Jsore K> Swe eego8 wrgoe 26O TAe.

(C) (A) 5805 (B) Boirw

(D) (A) o8 850 (B) 5260

118.

Which of the following assertions can be said to be correct as per the passage ?

(1) Subsidies strangulate the mechanism of feedback regarding availability and shortage
of goods in the market.

(2) Direct transfer of subsidy to poor, as a remedy to administered prices, is infeasible at
present, because of non-availability of appropriate technology.

(3) Subsidized prices invariably create artificial shortage of goods.

(A) Only (1) (B) (1) and (2) © @ 6 (D) (@), (2) and (3)

O BS 350& Ug‘é)o dore JBod™ Béo)éiﬁaa?

1) 5630827&565 B0 SHe gl HOK EBED Howodod éé}\)ée:o gﬁw‘gg Sol@eored)
&0 dohdone Srow.

(2) QHOBS $Bs BBBore DS SIE (MK 20O e EAS FPoBBES B sBworr
80t wSBmrgo S,

(3) %D e edir SHHe §BH TEEK KR,

(A) (1) &m(&aD (B) (1) B (2) (C) (1) &Baw (3) (D) (1), (2) &30 (3)
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119. Which is the most important idea that the author is trying to convey ?
(A) Administered prices do not have any place in the market economy as they lead to
inefficiencies and price distortions.
(B) P D S has failed in India and elsewhere and must give way to market determined
pricing and distribution system.
(C) Price controls are the basic cause of large fiscal deficit observed in the Indian economy.
(D) Price controls need to be done away with and price subsidies wherever needed, be
replaced with direct transfer of subsidy to the poor.
Somd D)) TBSE 0 S0ggR06, BIHS B 08 ?
(A) So=opes :é?gzééés Q0@8 FEoH Aerod Plo o Jodods, ©d OJHEEODH
LB B HESS b EJom S8,
(B) gr888%0S° Lr0uin B88 (@rozre (e HoB Aerdo DPoos HHOA SHRVOM
$5°0)¢5 f\)é%é $Ben HOAM HodB eI Dew EDoTD.
(Q) g880% @08 Eﬁé&ﬁééﬁ aréﬁsow e@%éé’%wéa (HWE 880 $8© AAHo(EHS.
(D) $8e 0Ho(Eeaedd SoRoTd HBIM @SIEFE e 653(36%0263 DEH SN 269
NS lelalelnl )
120. Average of 30 terms is 100. If 10 is added to first 10 terms and 20 is subtracted from the last
20 terms then what will be the new average of these terms ?
(A) 90 (B) 91 (©) 95 (D) 99
30 eyotre Hrién 100. 308E 10 Horod> 10 SBoDSLHoWE, HB5» VBB 20 Hrre Ko 209
5"@?\0:‘1)26&30&)3, &3 Hoee) ISl HKen dod ?
(A) 90 (B) 91 (©) 95 (D) 99
121. If the ratio of the radii of two circles is 3 : 2, then the ratio of the areas of the two circles is :
(A) 9:4 (B) 4:9 (C© 3:4 (D) 3:2
Bod é@éaﬁwo aﬂéﬁgmo DY 3 :2, ©HPE Bodd é@émo SFeg0e QY :
(A) 9:4 B) 4:9 (C) 3:4 (D) 3:2
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122. A can complete a piece of work in 10 days while B can complete the same work in 15 days.
Working with C, A and B can complete the work in 4 days. In how many days, C can finish
the complete work alone ?

(A) 8 days (B) 10 days (C) 12 days (D) 20 days
A 2.8 HAD 108%¢? 308 TohrienrHaees £H8ain Bed DI 158%¢® 1o Sabhrenrhee.
C& Sod I Br A DA B & HI 48’ 0 Bobhenidzedh. Cadiid e HIJ )
65&%’5: 9) o) BoKenrHE?
(A) 8 &%eren (B) 10 &%ewex (C) 12 &%wexn (D) 20 &%ewexn
1
123. Probability that Ramu will solve a Puzzle is 5 where as probability that Kallu will solve the
1
puzzle is 1 what is the probability that the puzzle will be solved provided both of them are
trying to solve the puzzle ?
A 3 B > C 3 D 1
() ® © 3 D) 3
1
28 HRS o 6651&603 Dogrs ) $08050 So8° ePentd e & HBSH F60T Qdogra®
1
1 oIS, 5)”6(65)65" E0d & HBSD 0“)6@:6030(5%3 fa19) éoepvzé?ge‘é?
A s B > C s D 1
() 3 ® © 3 D)
124. How many numbers less than or equal to 1000 can be written as difference of squares of two
whole numbers ?
(A) 750 (B) 500 (C) 250 (D) 333
Both RS Dogge Hpe Sereore e, 10008 JXrIRS S ol B8 SEYSS Soggeid
AN oBJ Traieo?
(A) 750 (B) 500 (©) 250 (D) 333
125. If I toss 6 coins, then in how many ways I can get second coin as heads, fourth coin as tails

and sixth coin as heads ?
(A) 4 (B) 8 () 12 (D) 16
3 6 B D J, Bo& B0 &Ky, Tl THo F oKD 8 THo Tk O

©JsPE0 Soh?
(A) 4 (B) 8 (C) 12 (D) 16
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126. 3 years ago, the average age of a family of 5 members was 18 yrs. A son in the family got
married and his wife also become the member of the family. A year ago a new baby was born
in the family. Today the average age of the family is still the same as it was 3 years ago. Find
the present age of son’s wife in years ?

(A) 18 (B) 20 < 22 (D) 24

3 %) (BB0 55008 Henoadghye Difen Hably) 18 b%()%).és&noaaoé‘s 28 HXATPHES Do
S0BC50 BODS gLy St BenodggoBod. e Ad 880 Hrenonostd S 28 35D
Jod. &s 8Pei Krevo0 RBoo) D5 S 333@;) 8&0 Do& BoBo&® ©oB &ob. HEPEHE
grPEy (X8 DKy B8 ?

(A) 18 (B) 20 ) 22 (D) 24

127. Find the number of ways 10 boys can be accommodated on 10 chairs if Ramu and Kallu (two

of the 10 boys) have to sit on the corner chairs.
(A) 80640 (B) 40320 (C) 3628800 (D) 1814400
10 008 eeends® g0 TR B ew, Kore é)éQeSf’ é5°8°z)3 Qore 10 nod erPendn
10 é}é{)@f Q) Dgrenre éﬁ@gﬁ%éé@ ?
(A) 80640 (B) 40320 (C) 3628800 (D) 1814400
128. 70% of 280 is the same as :
(A) 35% of 140 (B) 40% of 490
(C) both (A) and (B) (D) None of the above
280 &° 70% B8 S0 ?
(A) 140 &* 35% (B) 490 &° 40%
(C) (A) 805 (B) Bokr Erwe (D) D& H& =%
129. Manoj's old ‘car’ was giving him a mileage of 16 km/L and his new ‘BMW” gives him a

mileage 10 km/L. Capacity of fuel tank in both cases is 30 L and 45 L respectively. If Manoj
travels 7,200 km in a year, how many more times will he have to go the filling station in a
year in comparison to his old car days ?

(A) One (B) Two (C) Three (D) Four times

HFE TS 528 @aHIH Heatrs 168.8n. DBE v, SAH LSS DAoers S @A
S5 108.20. DBE aRbob. & Both Y 205 €108 Fehogen S 30 Heady HoBako
45968, LoFE K08 2.8 DwedS® 7,200 8.8 BOSPBR, 1S SoHE HOY A Béy DY
@A DE’S 2055 HFardy $:9087?

(A) o8& (B) Bo (C)  Sowesd (D) cPeid Bén
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130. What is the angle between an hour hand and minute hand when the time according to a
clock is 3:457?
(A) 165 degree (B) 157.5 degree (C) 152.5 degree (D) 180 degree
K&OIPE0S® $oaho 3 : 45 wands Kot ey HBH Iare ey e o Seo?
(A) 165 &A (B) 157.5 && (C) 152.5 @& (D) 180 &A

o rd 1 th

131. If 50 is substracted from 3 of number, the result is equal to sum of 40 and 1 of that
number. What is the number ?
(A) 30 (B) 40 (C) 50 (D) None of these

2 1
a8 éogpé @wé& 3 grifos® 50 &1Sohre HOB0 40 HHBS5H & éogpéess 1 gl BOHS Iwdo

N, & dogg B ?
(A) 30 (B) 40 (C) 50 (D) 278S® D& =

Directions for questions 132 to 134
Answer the questions based on the following information :

(D
(ID
(IID)
(IV)

V)

A patient with disease G will exhibit both a rash and a fever, and either a sore throat or a
headache but not both.

A patient with disease L will exhibit both a rash and a fever but neither a sore throat nor a
headache.

A patient with disease T will exhibit at least a sore throat and a headache, and possibly other
symptoms.

A patient with disease Z will exhibit at least a headache and possibly other symptoms, but
never a rash.

No one has more than one of the diseases G, L, T and Z at the same time.

SEJoggen 132 Hood 134 8B (B Jrsden.
QIS JSrardo eprdorr (BHe SSrgrdo 3kl :

(D

(11

V)

G a5e8° &) N $easy B o oFEre (BB B Fodkh %) oo S0y
Bo&oBE, Bo&od rHome AE° el oFerR) SrB WS

La‘g&ﬁs &%) & E5E8Y 0BT 23380 OFETORD (DI HOAD o ) S SO
Bo&oBs® 35‘5)& EOA 6o,

T 68" &) 6°A o Ty Suo STy BokodS® DE° aswed)) SOA eotwr, 588
B0 @656803 ©ISPE0 GOd.

Za‘g&sés &) 8% 88%0 PoBHI) BOA &otor, 388 oFered @3666,303 ©dsed0 &ok.
B8y B0 s,

NEreos® d 8% Eree G, L, T80k Z of® O6° a8 oed) S@H 807 eoero.
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132. If a patient exhibits a sore throat and a fever, it must be true that the patient :
(A) Has disease Z (B) Does not have disease G
(C) Does not have disease L (D) Has a rash
2.8 &A fPo&H T8 O axxdo eFeren SO 608, & 2623_% DHXGHoS 1d Jezo.
(A) Z 3500 8OA &I (B) Gargh 8.
(C) Lacgd 8. (D) &%) EOA s,
133. If a patient does not have a rash, the patient must have :
(A) Headache (B) Sore throat (C) Disease T (D) Disease Z
a8 B°A8 5%y B wol, &) SHE EON GOt .
(A) BoJdy) (B) fPo@I ) ©) T=g6 (D) Z =8
134. If a patient has neither fever nor a sore throat, which of the following he will have ?
() Headache
(II) Disease Z
(III) A rash
(A) (D) only (B) (I) and (II) (©) (UI) only (D) (II) and (III)
2.8 80 5508 380 KON oS8y SHowe ¢od, BN T&S* wdlH DA sod &b !
1) Sodd)
1) Z g8
(IIT) - &5e0y
(A)  (I) Soead (B) (I) &8cs» (I) (C) (1) S (D) (II) So8csn (III)
135. Divide 27 into two parts in such a way that 5 times the first number and eleven times the
second number will add up to 171.
(A) 6 and 21 (B) 8 and 19 (C) 12 and 15 (D) 18 and 9
InSB grifo mBoden B Bo&E grio HEEo [S10] 093 171 éﬁa@ 27 & Botd
gPrrenme g50sod.
(A) 6 B 21 (B) 8 oBc%» 19 (C) 12 80w 15 (D) 18 $»dasw 9
136. Find the number of common terms in the sequence A (1, 4, 7, 10, 13....103) and sequence
B (1,5 9 13, 17.... 105).
(A) 7 (B) 8 (G (D) 10
A (1, 4,7,10,13....103) 8% B (1, 5,9, 13, 17....105) [Beoos® eyl ol oS Soy
BP0,
(A) 7 (B) 8 (G (D) 10
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137. Instead of multiplying a number by 5, Billu divided the number by 5. Final result was 120 less

than the actual result. Find the original number.
(A) 15 (B) 20 (C) 25 (D) 30

ey 2.8 Hoggd 53 HB0T ahentr & Soggd 53 FPRome. wer IS HOBo 9N HOS0
g0& 120 BN, QD dogy Do ?
(A) 15 (B) 20 (C) 25 (D) 30

138.

A dog took 4 leaps for every 5 leaps of a cat but 3 leaps of the dog are equal to 4 leaps of cat.
Find the ratio of speed of the dog and speed of the cat.

(A) 15:16 (B) 16:15 (C) 12:20 (D) 20:12

2.8 1Y I (BB 5RoeB HY) 4Roden ErEerhEod. HE) S (B8 3Roden HY @oE)
4 RoHod Jddedo. é)é& SBAs DY Sree éaééé Y8 EoRPH08.
(A) 15:16 (B) 16:15 (C) 12:20 (D) 20:12

139.

Production of sugarcane in a state is increased by 150% in year 1. By how much percentage,
this production should increase in year 2 to ensure an overall increase of 200% from year 0 to
year 2 ?

(A) 50% (B) 33% (C) 25% (D) 20%

28 e S® 2.8 T(RoS® BBH &&)G 150% 1BA0E. 0 HTd LoD 25 AeHS Bngo e BEXH
&$)8 200% ©HB0 SPareod, 25 ATedS® IBH GEY Jod 1ETO ?
(A) 50% (B) 33% (C) 25% (D) 20%

140.

Ramu and Kallu working at 75% and 50% of their efficiencies respectively can complete a
work in 10 days. While working at twice and thrice of their respective efficiencies, they can
finish the work in 3 days. Working at their regular efficiency, in how many days, the work
will be completed ?

(A) More than 5 days but less than 6 days.
B) More than 6 days but less than 7 days.
) More than 7 days but less than 8 days.

(
(C
(D) More than 8 days but less than 9 days.

oo EBUH Bep S D DD PBTLRD SR 75% $BA%0 50% SHBERALR: &8 HIV 10
Berd 0 Sobrieds. S BT Bododen HOK Krdodenre KV Ve T ©
HID 38 o0 Tobriedd. 0 KD FnLEos® B DY & BV AY Ferd’ FrEHH0B.

(A) 580 BT, BN 8w 6 Sere Sy BE)K.
(B) 68 ST NEVRERIalewy 7 %0 S BE)K.
(C) 78ero ST AEND 0B 8 Sere S BE)R.
(D) 8&%ere B NENS Hdaso 9 Bere Soo) BE)D.
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141. To pin up a rectangular picture, Ramu needs 4 pins, one at each corner. For two pictures he
needs only 6 pins since he can overlap pictures. What is the smallest number of pins he needs
to pin up 10 such pictures ?

(A) 22 (B) 18 © 17 (D) 14

a8 égzﬁeﬁoé@"@é DR, 8% Hore BB TP B ©F T0KB ToEND 4 dT) WSV
BotH EPoH DS ©H FDokD, 28D 8 8.3585erD 3@26&0&6326, 6 dXen oD@ ow.
& Qorr 10 D@y Hdyen ﬁ)z‘ﬁaocﬁaéb éé}&éﬁ&‘i‘s BENIMT A DXYe0 BBITHTeon?
(A) 22 (B) 18 © 17 (D) 14

142. In an examination, passing marks are one third of the maximum marks. Ramu gets

30 marks and fails by 10 marks. Find maximum marks to the exam.

(A) 200 (B) 150 (©) 120 (D) 100

2.8 H0gS° éé@aoﬁgocﬁaé ©BIEFP Jrdpen KOK éyoéo&éj Loe&® Sod. oesw 30 oo Ben
grod 10 Sty oo @@é@ddﬁ)ﬂgé} o HOEH Ko K08 &SN ?

(A) 200 (B) 150 (©) 120 (D) 100

143. A sum of money compounded annually becomes ¥ 625 in two years and I 675 in three years.

Find the rate of interest applicable in this case ?

(A) 6.25% B) 7% G 7.5% (D) 8%

§08 Fndo OE BEHE TS TodgH T 625 HOA KrEHH T 675 @HEod. &
$oBTNI8 $oT H& Texnd EPKod ?

(A) 6.25% B) 7% (C) 7.5% (D) 8%

144. Find the maximum number of rectangles of size 3" x 2" that can be cut from a square of

36" x 36".
(A) 216 (B) 323 (©) 411 (D) 512
36" x 36" St50 Koo 3"x2" HBLreD) HYIHB(RrOR KoK JR) EhiHEy) ?
(A) 216 (B) 323 (©) 411 (D) 512
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145. How much water should be added to 1 litre of chemical solution costing ¥ 300 per litre so as
to make a profit of 20% by selling the mixture of chemical solution at I 150 per litre?
(A) 04 Litre (B) 1.4 Litre
(C) 24 Litre (D) None of the above
He:5% T 30098 Ko 28 BREDHS (@) 20% ergos® He5H T 150 S DBowoBors
dod Indos® HBJ Bord?
(A) 04 He:5 (B) 1.4 &5
(Q) 24 He:5 (D) 23D =

146. Two balls have their radii in the ratio 1 : 2 find the ratio of volumes of paint required to
colour outer surfaces of these balls ?
(A) 1:2 (B) 1:4 G 1:8 (D) 2:9
B0t 2o&en S @g@c;e?ﬁ: 1:23588° 50A evmon. @ poHed achd grros® Sor
S0 5B IVEHS Borhe HOLTEPe DY BrrSol ?
(A) 1:2 (B) 1:4 () 1:8 (D) 2:9

147. In the figure below ABCD is a rectangle and CDE is an equilateral triangle. Find the value of

angle AEB.

E
DA ——NC
AY "B
(A) 45 degree (B) 30 degree (C) 20 degree (D) 15 degree

&S DBos® ABCD a8 S50 S0805» CDE 2.8 dverd™ (H8Haso. AEB 8%0 Dens
BP0,

E
D —C
(A) 45 &fen (B) 30 &@Aeo (C) 20 &@exn (D) 15 &@eo

NTRVSET-2015 54 A



148. 20% of a number is 5% less than 30% of another number; find the ratio of these two numbers.
(A) 19:20 (B) 44:57
(C) 57:40 (D) None of the above
a8 K)ogpééa 20%, H5o8° éosp?geﬁs 30% o0& 5% ééa&é. & Bod éogp?gen é)té?g DB EoPKod.
(A) 19:20 (B) 44:57
(C) 57:40 (D) 23D =H

149. 68 men can dig a ditch 104 m long in 36 days working 8 hours a day. How many more men
should be engaged to dig a similar ditch 243 m long in 8 days provided this new set of men
will work 12 hours a day ?
(A) 451 men (B) 459 men (C) 463 men (D) 471 men
8% 8 Hobre TP DA Bk 68 Krod HBswen 104 e LIS a8 BokseR) 36 Serd’
EHioth.0eroBE 243 el FEIS D6 BossR) St 12 Kobe TS D BTIx
8 8%¢P 5 38 BTRotHH HBod Hod O ?
(A) 451 ood (B) 459 &ood (C) 463 Xood (D) 471 &ood

150. Find the number of digits used to write first 1000 whole numbers.
(A) 1990 (B) 1890 (©) 2890 (D) 2990
e 1000 532598 éoaaéexéo T R0HE SHBPA0T ®OoB® éoaaegzéa EoRPK08.
(A) 1990 (B) 1890 (©) 2890 (D) 2990

-00o0-
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